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(B) (WA LB EMIZIEFAT B %ﬁ@iﬁ%@%‘é(m) . (F) ()N LR ENICERT HBEDTEZNDSS(m) ENREGEESELZE T EESHAICHER T ATEEHh Hﬂ:-?Fﬁ L1 aET
(C) #8H(= otéjmwoommWFd)lZﬁd)#ﬁﬂQﬁd)?x{ B(kN/ ) (G) iﬁ#*n?ﬁ%mlal'l‘d)lziéﬁd)iﬁiﬁd)ﬁ0)%7(1|'E§l_<N/m) DEBIHAENSEETEHENTES,
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METHEYTHOLIREDADKRES SHEAHBRD T EZEDADKRES
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A) (B) (©) (D) (E) (F) (G) (H) A) (B) (©) (D) (E) (F) (G) (H)
(1) - - 67.0 1.0 - - 8.2 1.6 - - 67.0 1.0 - - 8.2 1.6
(2) - - 98.9 1.0 - - 9.8 2.0 - - 98.9 1.0 - - 10.0 2.0
( 3)| 1103 1.0 99.9 1.0 - - 10.1 2.0 110.3 1.0 98.1 1.0 - - 10.1 2.0
( 4 )| 1062 1.0 99.0 1.0 - - 10.5 2.1 106.2 1.0 98.8 1.0 - - 10.5 2.1
(5) - - 68.1 1.0 - - 9.2 1.8 - - 68.1 1.0 - - 9.2 1.8
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